J. of Inequal. & Appl., 2000, Vol. 5, pp. 309–320 Reprints available directly from the publisher Photocopying permitted by license only

# A General Rearrangement Inequality à la Hardy–Littlewood

#### FRIEDEMANN BROCK\*

Universität Leipzig, Fakultät für Mathematik und Informatik, Augustusplatz 10, D-04109 Leipzig, Germany

(Received 5 May 1999; Revised 12 July 1999)

Let  $F = F(v_1, \ldots, v_m)$  smooth on  $(\mathbf{R}_0^+)^m$  with  $F_{v_i v_j} \ge 0$  for  $i \ne j$ . Furthermore, let  $u_1, \ldots, u_m$  nonnegative and bounded functions on  $\mathbf{R}^n$  with compact support. We prove the inequality  $\int_{\mathbf{R}^n} F(u_1, \ldots, u_m) \, \mathrm{d}x \le \int_{\mathbf{R}^n} F(u_1^*, \ldots, u_m^*) \, \mathrm{d}x$ , where \* denotes symmetric decreasing rearrangement.

Keywords: Symmetrization; Rearrangement; Integral inequality

AMS Subject Classification: 26D15, 28A25

#### **1 INTRODUCTION**

Let  $u: X \to \mathbf{R}_0^+$  a measurable function defined on a measure space  $(X, \mu)$ . We define its *distribution function*  $\mu_u: \mathbf{R}_0^+ \to \mathbf{R}_0^+ \cup \{\infty\}$  by

$$\mu_u(t) = \mu(\{x \in \mathbf{R}^n : u(x) > t\}), \quad t \ge 0.$$

Two functions u and v are said to be rearrangements of each other if

$$\mu_u(t) = \mu_v(t) \quad \forall t \ge 0.$$

By  $\mathcal{F}_+(X)$  we denote the collection of measurable functions  $u: X \to \mathbf{R}_0^+$ with

$$\mu_u(t) < +\infty \quad \forall t > 0.$$

<sup>\*</sup> E-mail: brock@mi.uni-koeln.de.

Next let  $\mathcal{M}$  the family of  $\mu$ -measurable sets in X, and let  $T : \mathcal{M} \to \mathcal{M}$  a set transformation satisfying

$$M, N \in \mathcal{M}, \quad M \subset N \Rightarrow TM \subset TN$$
(monotonicity), (1)

$$M \in \mathcal{M} \Rightarrow \mu(M) = \mu(TM)$$
 (equimeasurability). (2)

Defining a function Tu by

$$Tu(x) := \sup\{t \ge 0: x \in T(\{u > t\})\}, \quad x \in X,$$
(3)

we see that u and Tu are rearrangements of each other. We will also call any mapping  $T: \mathcal{F}_+(X) \to \mathcal{F}_+(X)$  given by (1)–(3), a rearrangement. Now the following inequality is basic: if  $u, v \in \mathcal{F}_+(X)$  and if T is a rearrangement then

$$\int_{X} uv \, \mathrm{d}\mu(x) \le \int_{X} T u T v \, \mathrm{d}\mu(x). \tag{4}$$

Equation (4) is attributed to Hardy and Littlewood (see [10],[11]).

An extension of this inequality was proved by Crowe *et al.* [7]. Let  $F: \mathbf{R}_0^+ \times \mathbf{R}_0^+ \to \mathbf{R}$  be continuous, and suppose that

$$F(0,0) = 0 (5)$$

and

$$F(u+s, v+t) - F(u+s, v) - F(u, v+t) + F(u, v) \ge 0$$
  
$$\forall u, v, s, t \in \mathbf{R}_0^+.$$
(6)

Then we have for  $u, v \in \mathcal{F}_+(X)$ ,

$$\int_{\mathcal{X}} F(u, v) \, \mathrm{d}\mu(x) \le \int_{\mathcal{X}} F(Tu, Tv) \, \mathrm{d}\mu(x). \tag{7}$$

Note that if  $F \in C^2$  then (6) is equivalent to

$$\frac{\partial^2 F}{\partial u \partial v} \ge 0,$$

and if  $\mu(X) < \infty$  then the condition (5) is superfluous.

Equation (7) contains some important special cases: if F(u, v) = uv then we recover (4). Furthermore, if F(u, v) = -f(|u - v|), where f is convex with f(0) = 0 then F is continuous and satisfies (6). In particular, for  $f(t) = t^p$ ,  $p \in [1, +\infty)$ , we obtain the *nonexpansivity in*  $L^p(X, \mu)$ , i.e. for nonnegative functions  $u, v \in L^p(X, \mu)$  there holds

$$||Tu - Tv||_p \le ||u - v||_p.$$
 (8)

(Here and in the following  $\|\cdot\|_p$  denotes the usual norm in  $L^p(X, \mu)$ .)

Our aim is to generalize (7) to more than two functions: suppose that  $F: (\mathbf{R}_0^+)^m \to \mathbf{R}$  is continuous and satisfies

$$F(0,\ldots,0)=0\tag{9}$$

and

$$F(v_1, ..., v_i + s, ..., v_j + t, ..., v_m) - F(v_1, ..., v_i + s, ..., v_j, ..., v_m) - F(v_1, ..., v_i, ..., v_j + t, ..., v_m) + F(v_1, ..., v_i, ..., v_j, ..., v_m) \ge 0 \forall s, t, v_1, ..., v_m \in \mathbf{R}_0^+ \text{ and } \forall i, j \in \{1, ..., m\}, i \neq j.$$
(10)

Note that if  $F \in C^2$  then (10) is equivalent to

$$\frac{\partial^2 F}{\partial v_i \partial v_j} \ge 0 \quad \forall i, j \in \{1, \dots, m\}, \ i \neq j.$$

We ask for conditions on  $(X, \mu)$  and T such that the following inequality might hold  $(u_1, \ldots, u_m \in \mathcal{F}_+(X))$ :

$$\int_X F(u_1,\ldots,u_m) \,\mathrm{d}\mu(x) \leq \int_X F(Tu_1,\ldots,Tu_m) \,\mathrm{d}\mu(x). \tag{11}$$

We first point out that (11) was proved by Lorentz [12] for decreasing rearrangement of functions given on a bounded interval on **R**. It seemed difficult to use his idea of proof for other rearrangements.

We will prove (11) in the special cases that T is the symmetric decreasing rearrangement either in the Euclidean space  $\mathbb{R}^n$ , on the sphere  $S^n$  or in the hyperbolic space  $\mathbb{H}^n$  (for definitions see Section 2). The idea consists in

the following: first (11) is shown for an elementary T – the so-called *two*point rearrangement. Then the result follows by approximation through a sequence of two-point rearrangements. Note that this method of proof turned out to be very fruitful in showing integral inequalities for symmetrizations (see e.g. [1-4]).

Using (11) for symmetric decreasing rearrangement, it is also easy to obtain analogous inequalities for symmetrizations depending essentially on more than one variable. Unfortunately, regardless of the simplicity of the method, it cannot be applied to more general situations. In particular, we do not know whether (11) holds for arbitrary rearrangements T and measure spaces  $(X, \mu)$ .

Finally we show using (11) that vector valued solutions of certain variational problems are radially symmetric.

# 2 SYMMETRIZATIONS AND TWO-POINT REARRANGEMENT

From now on, let X denote either  $\mathbb{R}^n$ , the unit *n*-dimensional sphere  $S^n = \{x \in \mathbb{R}^{n+1} : |x| = 1\}$ , or the *n*-dimensional hyperbolic space  $\mathbb{H}^n$ . We equip X with the corresponding distance function d(x, y) and measure  $\mu$ . Thus, for  $X = \mathbb{R}^n$ , d(x, y) is the usual Euclidean distance |x - y| and  $\mu$  the Lebesgue measure. For  $X = S^n$ , d(x, y) is the great circle distance on the sphere and  $\mu$  is the Lebesgue surface measure. We take as a model for  $\mathbb{H}^n$  the ball  $\{x \in \mathbb{R}^n : |x| < 1\}$  equipped with Riemannian line element  $dh = 2(1 - |x|^2)^{-1} |dx|$ . Then d and  $\mu$  as the Riemannian distance function and the volume measure, respectively, associated with dh.

If  $u \in C(X)$  we denote by  $\omega_u$  the *modulus of continuity* of u, which is defined by

$$\omega_u(t) := \sup\{|u(x) - u(y)|: d(x, y) \le t\}, \quad t \ge 0.$$

We fix an origin e in X, and we denote by B(R) the ball  $\{x \in X: d(x, e) < R\}$ . For sets  $M \subset \mathcal{M}$  with  $\mu(M) > 0$  let  $M^*$  the ball B(R),  $R \in (0, +\infty]$ , with  $\mu(B(R)) = \mu(M)$ , with the exception that, if  $X = S^n = M$ , then  $M^* = S^n$ . For  $u \in \mathcal{F}_+(X)$  we define the symmetric decreasing rearrangement  $u^*$  by

$$u^*(x) = \sup\{t \ge 0: x \in \{u(x) > t\}^*\}.$$
 (12)

Then  $u^*$  is 'radially symmetric and radially decreasing', that is we have  $u^*(x) = u^*(y)$  if d(e, x) = d(e, y) and  $u^*(x) \ge u^*(y)$  if  $d(e, x) \le d(e, y)$ . Furthermore, it is well-known (see [1]) tht if  $u \in C(X)$  then  $\omega_u(t) \ge \omega_{u^*}(t)$  $\forall t \ge 0$ . Note that  $u^*$  goes by various other names, such as Schwarz symmetrization when  $X = \mathbb{R}^n$ , spherical symmetrization when  $X = S^n$ , and hyperbolic symmetrization when  $X = \mathbb{H}^n$ .

Next we define a very simple rearrangement.

Let  $\mathcal{H}(\mathbf{R}^n)$  the collection of all (n-1)-dimensional hyperplanes of  $\mathbf{R}^n$ ,  $\mathcal{H}(S^n)$  the collection of all intersections of  $S^n$  with *n*-hyperplanes through the origin in  $\mathbf{R}^{n+1}$ , and  $\mathcal{H}(\mathbf{H}^n)$  the collection of all images under the group of hyperbolic motions of the hyperbolic (n-1)-plane  $\{x \in \mathbf{R}^n: |x| < 1, x_n = 0\}$ . For  $H \in \mathcal{H}(X)$  let  $\sigma = \sigma_H: X \to X$  denote reflection in H, and let  $H^+$  and  $H^-$  are the two components of  $X \setminus H$ , such that  $e \in H \cup H^+$ .

For  $u \in \mathcal{F}_+(X)$  we define the *two-point rearrangement* of u (w.r.t. H) by

$$u_{H}(x) := \begin{cases} u(x) & \text{if } x \in H, \\ \max\{u(x); u(\sigma x)\} & \text{if } x \in H^{+}, \\ \min\{u(x); u(\sigma x)\} & \text{if } x \in H^{-}. \end{cases}$$
(13)

Note that the two-point rearrangement is sometimes called *polarization* in the literature (see [4,8,9]).

Remark 1 The following properties are easy to check (see [1,2]):  $u_H$  is a rearrangement of u, and if  $\sup u \subset B(R)$  for some R > 0 then also  $\sup u_H \subset B(R)$ . Furthermore, if  $u \in C(X)$  then we have  $\omega_u(t) \ge \omega_{u_H}(t) \ \forall t > 0$ . Finally, we have  $(u^*)_H = u^*$ , and if  $u \in L^2(X, \mu)$ , then by (8),

$$||u_H - u^*||_2 \le ||u - u^*||_2.$$

## 3 INEQUALITY

Our main result is

THEOREM 1 Let  $X = \mathbb{R}^n$ ,  $S^n$  or  $\mathbb{H}^n$ , and let  $F : (\mathbb{R}^+_0)^m \to \mathbb{R}$  continuous and satisfies (10) and in addition (9) in case that  $X = \mathbb{R}^n$  or  $\mathbb{H}^n$ . Furthermore,

let either

- (i)  $u_1,\ldots,u_m \in \mathcal{F}_+(X) \cap L^\infty(X,\mu)$  or
- (ii)  $u_1, \ldots, u_m \in \mathcal{F}_+(X) \cap L^p(X, \mu)$  and

$$|F(v_1,\ldots,v_m)| \le C \sum_{i=1}^m v_i^p \quad \forall (v_1,\ldots,v_m) \in (\mathbf{R}_0^+)^m, \qquad (14)$$

for some  $p \in [1, +\infty)$ , C > 0.

In case (ii) and if  $X = \mathbf{R}^n$  or  $\mathbf{H}^n$  we add the requirement that the functions  $u_1, \ldots, u_m$  have compact support. Then

$$\int_X F(u_1,\ldots,u_m) \,\mathrm{d}\mu(x) \leq \int_X F(u_1^*,\ldots,u_m^*) \,\mathrm{d}\mu(x). \tag{15}$$

For the proof we need the following technical lemma which was also used in [12]. We include a proof for the convenience of the reader.

LEMMA 1 Let  $F: (\mathbf{R}_0^+)^m \to \mathbf{R}$  continuous and satisfies (10). Furthermore, let  $a_i, b_i, c_i^+, c_i^- \in \mathbf{R}_0^+$  with

$$c_i^+ = \max\{a_i; b_i\}, \quad c_i^- = \min\{a_i; b_i\}, \quad i = 1, \dots, m.$$

Then

$$F(a_1,\ldots,a_m) + F(b_1,\ldots,b_m) \le F(c_1^+,\ldots,c_m^+) + F(c_1^-,\ldots,c_m^-).$$
 (16)

*Proof* W.l.o.g. we may assume that there is some  $k \in \{1, ..., m-1\}$  such that

$$a_i = c_i^+$$
 and  $b_i = c_i^-$  for  $1 \le i \le k$ .

Introducing the vectors  $v' = (c_1^-, \ldots, c_k^-)$ ,  $v'' = (c_{k+1}^-, \ldots, c_m^-)$ ,  $h' = (h_1, \ldots, h_k)$ ,  $h'' = (h_{k+1}, \ldots, h_m)$ , where  $h_i := c_i^+ - c_i^-$ ,  $i = 1, \ldots, m$ , (16) reads as

$$I := F(v' + h', v'' + h'') + F(v', v'') - F(v' + h', v'') - F(v', v'' + h'')$$
  

$$\geq 0.$$
(17)

Let  $F \in C^2$ . We have by Taylor's theorem,

$$I = \int_{0}^{1} \left\{ \sum_{i=1}^{m} F_{\nu_{i}}(\nu' + th', \nu'' + th'')h_{i} - \sum_{i=1}^{k} F_{\nu_{i}}(\nu' + th', \nu'')h_{i} - \sum_{i=k+1}^{m} F_{\nu_{i}}(\nu', \nu'' + th'')h_{i} \right\} dt.$$
(18)

Now, since  $F_{\nu_i\nu_j} \ge 0$  for  $i \ne j$ , we have for  $t \in [0, 1]$ ,

$$F_{\nu_i}(\nu'+th',\nu''+th'') - F_{\nu_i}(\nu'+th',\nu'')$$
  
=  $\int_0^1 \sum_{j=k+1}^m F_{\nu_i\nu_j}(\nu'+th',\nu''+sth'')h_j \,\mathrm{d}s \ge 0, \quad \text{if } 1 \le i \le k,$ 

and

$$F_{v_i}(v'+th',v''+th'') - F_{v_i}(v',v''+th'')$$
  
=  $\int_0^1 \sum_{j=1}^k F_{v_i v_j}(v'+sth',v''+th'')h_j \,\mathrm{d}s \ge 0, \quad \text{if } k+1 \le i \le m.$ 

Therefore the integrand  $\{\cdots\}$  in (18) is nonnegative, and (17) follows. In the general case we can argue by approximation.

Now we show that (11) holds for two-point rearrangements.

LEMMA 2 Let  $F: (\mathbf{R}_0^+)^m \to \mathbf{R}$  continuous and satisfies (10). Furthermore, let  $u_1, \ldots, u_m \in \mathcal{F}_+(X)$  and  $H \in \mathcal{H}(X)$ . Then

$$\int_{X} F(u_1, \dots, u_m) \, \mathrm{d}\mu(x) \le \int_{X} F((u_1)_H, \dots, (u_m)_H) \, \mathrm{d}\mu(x).$$
(19)

**Proof** Let  $Q(u_1, \ldots, u_m)$  denote the left integral in (19). Then we have by Lemma 1,

$$Q(u_1, ..., u_m) = \int_{H^+} \{F(u_1(x), ..., u_m(x)) + F(u_1(\sigma x), ..., u_m(\sigma x))\} d\mu(x) \\ \leq \int_{H^+} \{F((u_1)_H(x), ..., (u_m)_H(x)) \\ + F((u_1)_H(\sigma x), ..., (u_m)_H(\sigma x))\} d\mu(x) \\ = Q((u_1)_H, ..., (u_m)_H).$$

#### F. BROCK

**Proof of Theorem 1** Our proof is much like the proof of Theorem 3 in [1]. Let Q as above. First we suppose that  $u_i \in C(X)$ , and if  $X = \mathbb{R}^n$  or  $\mathbb{H}^n$  then suppose in addition that  $u_i$  has compact support in B(R) for some R > 0, i = 1, ..., m. We define

$$S(u_i) := \{ U \in C(X) : \omega_U \le \omega_{u_i} \text{ and } U \text{ is a rearrangement of } u_i \},\$$

$$i = 1, \dots, m,$$

$$S(u_1, \dots, u_m) = \{ (U_1, \dots, U_m) \in S(u_1) \times \dots \times S(u_m) :$$

$$Q(U_1, \dots, U_m) \ge Q(u_1, \dots, u_m) \},$$

$$\delta = \inf \left\{ \sum_{i=1}^m \|U_i - u_i^*\|_2^2 : (U_1, \dots, U_m) \in S(u_1, \dots, u_m) \right\}.$$

If  $X = \mathbf{R}^n$  or  $\mathbf{H}^n$  then we add in the definition of  $\mathcal{S}(u_i)$  the requirement that supp  $U \subset \mathcal{B}(\mathbf{R})$ . There exists  $(U_1^0, \ldots, U_m^0) \in \mathcal{S}(u_1, \ldots, u_m)$  such that  $\delta = \sum_{i=1}^m ||U_i^0 - u_i^*||_2^2$ . When  $X = \mathcal{S}^n$  this follows from the theorem of Arzelá-Ascoli, and if  $X = \mathbf{R}^n$  or  $\mathbf{H}^n$  it follows from Arzelá-Ascoli together with the translation invariance of the integral  $Q(u_1, \ldots, u_m)$ . If  $\delta = 0$  then  $(u_1^*, \ldots, u_m^*) = (U_1^0, \ldots, U_m^0) \in \mathcal{S}(u_1, \ldots, u_m)$  and hence  $Q(u_1^*, \ldots, u_m^*) \ge Q(u_1, \ldots, u_m)$ , as required.

Suppose that  $\delta > 0$ . Then there exists  $k \in \{1, \ldots, m\}$  such that  $U_k^0 \neq u_k^*$ . It is easy to show (see [2]) that there exists  $H \in \mathcal{H}(X)$  such that  $\|(U_k^0)_H - u_k^*\|_2 < \|U_k^0 - u_k^*\|_2$ , which means that

$$\sum_{i=1}^m \|(U_i^0)_H - u_i^*\|_2^2 < \sum_{i=1}^m \|U_i^0 - u_i^*\|_2^2.$$

Since also  $((U_1^0)_H, \ldots, (U_m^0)_H) \in \mathcal{S}(u_1, \ldots, u_m)$  by Remark 1, this last inequality contradicts the definition of  $\delta$ .

In the general cases we chosen sequences  $u_1^{(k)}, \ldots, u_m^{(k)}$  of nonnegative continuous functions with

$$\operatorname{supp} u_i^{(k)} \subset \operatorname{supp} u_i, \quad k = 1, 2, \ldots,$$

and such that

$$u_i^{(k)} \longrightarrow u_i \quad \text{in } L^p(X,\mu),$$
 (20)

in case (i), and

$$u_i^{(k)} \longrightarrow u_i \quad \text{in } L^1(X,\mu),$$
 (21)

and

$$u_i^{(k)} \le C$$
, uniformly  $\forall k \ (C > 0)$ , (22)

in case (ii),  $i=1,\ldots,m$ ; (20)–(22) also hold for  $u_i^{(k)}, u_i$  replaced by  $(u_i^{(k)})^*, u_i^*, k=1,2,\ldots, i=1,\ldots,m$ , respectivley, in view of (8). The assertion then follows from (14) and from Lebesgue's convergence theorem.

Remark 2 (1) Choosing  $F(v_1, \ldots, v_m) = \prod_{i=1}^m v_i$  or  $F(v_1, \ldots, v_m) = f(\sum_{i=1}^m v_i)$ , where f is convex with f(0) = 0 we obtain the following inequalities which hold for nonnegative bounded functions  $u_1, \ldots, u_m$  having compact support when  $X = \mathbb{R}^n$  or  $\mathbb{H}^n$ :

$$\int_{X} \prod_{i=1}^{m} u_{i} d\mu(x) \leq \int_{X} \prod_{i=1}^{m} u_{i}^{*} d\mu(x),$$
(23)

$$\int_{X} f\left(\sum_{i=1}^{m} u_{i}\right) \mathrm{d}\mu(x) \leq \int_{X} f\left(\sum_{i=1}^{m} u_{i}^{*}\right) \mathrm{d}\mu(x).$$
(24)

(2) Theorem 1 implies analogous inequalities for the so-called (k, n)-Steiner and cap symmetrizations in  $\mathbb{R}^n$ , respectively  $S^n$ . Note that these symmetrizations can be seen as symmetric decreasing rearrangements on k-dimensional subspaces of X ( $1 \le k \le n - 1$ ) (see [1]). For the proofs one can argue analogously as in [1, p. 59].

It is easy to obtain an inequality similar to (14) with F depending on x. Replace m by m+1 and let  $u_{m+1} \in L^1(X,\mu) \cap L^{\infty}(X,\mu)$  smooth with  $u_{m+1} = u_{m+1}^*$  and *strictly* radially decreasing. Defining a function  $G: (\mathbf{R}_0^+)^{m+1} \to \mathbf{R}$  by the relation

$$G(v_1, \ldots, v_m, d(e, x)) := F(v_1, \ldots, v_m, u_{m+1}(x)),$$
  

$$x \in X \ (v_1, \ldots, v_m) \in (\mathbf{R}_0^+)^m,$$

we see that G is continuous and satisfies

$$G(v_1, \dots, v_i + s, \dots, v_m, z + t) - G(v_1, \dots, v_i + s, \dots, v_m, z) - G(v_1, \dots, v_i, \dots, v_m, z + t) + G(v_1, \dots, v_i, \dots, v_m, z) \le 0,$$
(25)

F. BROCK

$$G(v_1, \dots, v_i + s, \dots, v_j + t, \dots, v_m, z)$$

$$-G(v_1, \dots, v_i + s, \dots, v_j, \dots, v_m, z)$$

$$-G(v_1, \dots, v_i, \dots, v_j + t, \dots, v_m, z)$$

$$+G(v_1, \dots, v_i, \dots, v_j, \dots, v_m, z) \ge 0$$

$$\forall s, t, v_1, \dots, v_m \in \mathbf{R}_0^+ \text{ and } \forall i, j \in \{1, \dots, m\}, \ i \neq j.$$
(26)

Note that if  $G \in C^2$  then (25) and (26) imply

$$\frac{\partial^2 G}{\partial v_i \partial v_j} \ge 0, \quad \frac{\partial^2 G}{\partial v_i \partial z} \le 0 \qquad \forall i, j \in \{1, \dots, m\}, \quad i \neq j.$$

The above considerations and Theorem 1 yield

COROLLARY 1 Let  $X = \mathbb{R}^n$ ,  $S^n$  or  $\mathbb{H}^n$ . Let  $G : (\mathbb{R}^+_0)^{m+1} \to \mathbb{R}$  continuous with

$$G(0, \dots, 0, d(e, \cdot)) \in L^1(X, \mu),$$
 (27)

and satisfying (25) and (26). Furthermore, let either

(i)  $u_1,\ldots,u_m \in \mathcal{F}_+(X) \cap L^{\infty}(X,\mu)$  or

(ii)  $u_1, \ldots, u_m \in \mathcal{F}_+(X) \cap L^p(X, \mu)$  and

$$|G(v_1, \dots, v_m, d(e, x))| \le C \sum_{i=1}^m v_i^p + g(z) \quad \forall (v_1, \dots, v_m) \in (\mathbf{R}_0^+)^m,$$
(28)

for some  $p \in [1, +\infty)$ , C > 0 and  $g \in L^1(X, \mu)$ .

In case (ii) and if  $X = \mathbf{R}^n$  or  $\mathbf{H}^n$  we add the requirement that the functions  $u_1, \ldots, u_m$  have compact support. Then

$$\int_{X} G(u_1, \dots, u_m, d(e, x)) \, \mathrm{d}\mu(x) \le \int_{X} G(u_1^*, \dots, u_m^*, d(e, x)) \, \mathrm{d}\mu(x).$$
(29)

Remark 3 Tahraoui [14] showed (29) in the special case that  $X = \mathbb{R}^n$ , m = 2 and  $G \in C^3$ . But his proof is quite complicated and it needs the unnecessary condition that  $(\partial^3 G)/(\partial v_1 \partial v_2 \partial z) \leq 0$ .

# 4 A SYMMETRY PROBLEM IN THE CALCULUS OF VARIATIONS

Consider the following variational problem:

$$J(u_1, \dots, u_m) \equiv \int_{B(R)} \left( \frac{1}{q} \sum_{i=1}^m |\nabla u_i|^q - G(u_1, \dots, u_m, |x|) \right) dx \longrightarrow \text{Min.!},$$
  
$$u_i \in K := \{ u \in W_0^{1,q}(B(R)) : u \ge 0 \}, \quad i = 1, \dots, m,$$
(30)

where R > 0,  $G : (\mathbf{R}_0^+)^{m+1} \to \mathbf{R}$  is continuous and satisfies (25)–(28) and  $q \in (p, +\infty)$ . Then it is easy to see that the functional *J* is bounded below and weakly lower semicontinuous. Hence there exists a minimizing solution. We prove

LEMMA 3 There exists a solution of problem (30) with  $u_i = u_i^*$ , i = 1, ..., m.

*Proof* Let  $(U_1, \ldots, U_m)$  a minimizing solution. By Corollary 1 we have

$$\int_{B(R)} G(U_1, \dots, U_m, |x|) \, \mathrm{d}x \le \int_{B(R)} G(U_1^*, \dots, U_m^*, |x|) \, \mathrm{d}x.$$
(31)

Furthermore, there hold the following well-known inequalities (see e.g. [1]):

$$\int_{B(R)} |\nabla U_i|^q \, \mathrm{d}x \ge \int_{B(R)} |\nabla U_i^*|^q \, \mathrm{d}x, \quad i = 1, \dots, m.$$
(32)

Now (31) and (32) yield  $J(U_1^*, \ldots, U_m^*) \leq J(U_1, \ldots, U_m)$ , and the assertion follows.

Remark 4 If  $G_{v_i} \in C((\mathbb{R}^+_0)^{m+1})$  then a solution  $(u_1, \ldots, u_m)$  of problem (30) solves the following variational inequalities:

$$\int_{B(R)} |\nabla u_i|^{q-2} \nabla u_i \nabla (v - u_i) \, \mathrm{d}x \ge \int_{B(R)} G_{v_i}(u_1, \dots, u_m, |x|) (v - u_i) \, \mathrm{d}x$$
$$\forall v \in K, \ i = 1, \dots, m.$$
(33)

Next suppose that  $u_i > 0$ , i = 1, ..., m. (Note that this follows from the maximum principle in case that  $G_{v_i}(u_1, ..., u_m, |x|) \ge 0$  in B(R),

 $i=1,\ldots,m$ , for instance.) Then  $(u_1,\ldots,u_m)$  is a weak solution of the following semilinear elliptic system,

$$-\Delta_q u_i \equiv -\nabla(|\nabla u_i|^{q-2} \nabla u_i) = G_{v_i}(u_1, \dots, u_m, |x|) \text{ in } B(R)$$
  
$$u_i = 0 \quad \text{on } \partial B(R), \quad i = 1, \dots, m.$$
 (34)

The system is *cooperative* by (26). Systems of this form arise in modelling spatial phenomena in a variety of physical and chemical problems (see e.g. [5,6,15]).

It is worth to mention the following special case.

Let q = 2, and assume that the functions  $u_i$  and  $G_{v_i}$ , i = 1, ..., m in (34) are smooth. Then the radial symmetry of  $u_i$ , i = 1, ..., m, follows as well via the *method of moving planes* (see [13,15]).

### References

- A. Baernstein II: A unified approach to symmetrization, in: *Partial Differential Equations of Elliptic Type*, Eds. A. Alvino *et al.*, Symposia Matematica Vol. 35, Cambridge Univ. Press 1995, pp. 47–91.
- [2] A. Baernstein II and B.A. Taylor: Spherical rearrangements, subharmonic functions, and \*-functions in n-space. Duke Math. J. 43 (1976), 245–268.
- [3] W. Beckner: Sobolev inequalities, the Poisson semigroup and analysis on the sphere S<sup>n</sup>. Proc. Nat. Acad. Sci. USA 89 (1992), 4816–4819.
- [4] F. Brock and A.Yu. Solynin: An approach to symmetrization via polarization, preprint, Köln (1996), 60 pp., *Transactions of AMS* (to appear).
- [5] S. Chanillo and M.K.-H. Kiessling: Conformally invariant systems of nonlinear PDE of Liouville type. *Geom. Funct. Analysis* 5 (1995), 924–947.
- [6] M. Chipot, I. Shafrir and G. Wolansky: On the solutions of Liouville systems. J. Differ. Equations 140 (1997), 59-105.
- [7] J.A. Crowe, J.A. Zweibel and P.C. Rosenbloom: Rearrangements of functions. J. Funct. Anal. 66 (1986), 432–438.
- [8] V.N. Dubinin: Transformations of capacitors in space. Soviet Math. Dokl. 36 (1988), 217–219; Russian original in Dokl. Akad. Nauk SSSR 296 (1987), 18–20.
- [9] V.N. Dubinin: Capacities and geometric transformations in n-space. GAFA 3 (1993), 342–369.
- [10] G.H. Hardy, J.E. Littlewood and G. Polya: *Inequalities*. Cambride Univ. Press, London (1934).
- [11] B. Kawohl: Rearrangements and convexity of level sets in PDE. Springer Lecture Notes 1150 (1985).
- [12] G.G. Lorentz: An inequality for rearrangements. Amer. Math. Monthly 60 (1953), 176-179.
- [13] A.W. Shaker: On symmetry in elliptic systems. Applicable Anal. 41 (1991), 1-9.
- [14] R. Tahraoui: Symmetrization inequalities. Nonlinear Analysis, TMA 27 (1996), 933-955.
- [15] W.C. Troy: Symmetry properties in systems of semilinear elliptic equations. J. Differ. Equations 42 (1981), 400-413.